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; - Grey line: exponential fit Peak flux: 0.429+/- 0.009 c/s/cm? ;
| Black Iing: power law + gauss fit Fluence : 10.83+/- 0.20 c/cm? B
- Dashed fine: power faw Duration : 111.60+/- 2.33 s .
- : N Best fit model: 3. ]
= ¢ L N Best fluence model: 3. J
E f m\m* [ i ! * Best durjtion model: 3. E
L i r H H * k H r H _
I
Tk b g
= ]| \1 *H ‘ i ﬂtmh m JH\‘ HMHM I ‘UM\HWM ‘H L, “\Hﬁ
- ] | PO T
- | T
; Exponential fit é
- Expon.time: 30.07+- 0.78s (chi*red= 6.41) 3
- f E
= | 3
- Bt ) :
= bt byt
= TR AR T LY ETTR Y T TR Y bt ]
" WWM " Q ﬁﬁ ﬂ wﬁ f ﬁ g H W i %HW Mﬂ“ Fiiy HH* ﬂﬂ ) ﬁ ﬂ“*Wﬁﬂ%M+ﬂ*%*ﬁ*+“ﬂ“W i HM f Hiwﬁ
= W “ﬁH iy £t =
= f 3
= * E
; Power law fit é
E Power law index: -1.301+/- 0.015 (chi*red= 3.51) =
- H + -
B N -
= bt g b 1 Pt by
= * T T £ Tttt gttt
- w P ! ﬁ 3 i ﬁ ﬁﬁ ”ﬁﬁ I HWW ﬂwﬂﬂ* iy Hw i W Hﬂ*****+Hﬁﬂﬁﬂ*ﬂﬁ*ﬂﬂfﬁWW i WHﬁﬂﬂﬂﬂﬁﬂﬁ%
- H -
= i =
— f -
i | \ i
— Power law fit plus Gaussian (st.dev.= 64.75+/- 1.38 s, fracgs= 0.34+/- 0.01) =
- Power law index: -2.660+/- 0.098 (chi’-red= 2.89) -
= | 3
= | it =
= LA R f [ -
- | C e Tt AT
T RTIN T b et by Tt B ) i }
= # ! f ﬁ M” | i Hﬁ w ﬁﬂ*ﬂ it HWWﬁ%wwHMH* | WW%HHﬂHMWJﬂﬁ
= f | f =
- * -
E | I I I I I I I I I | I I | I E
0 100 200 30

Time [s]

0



